[ Efficiency vs vertpos |
0.8

13/ SRR N SR o o

1Y SR A S S e

efficiency vs vert r

Y N 0 N — S—
7 SRS M R S—

0 R S

0.2

0.1

T BT RN /1 BT
10 M i ;

Ratio

1072 101 1 10 0?
TP vertr (cn%)

—— DQM_old

Tici —e— DQM_wrong
Efficiend _._ bom vo0o1_R000000001_ Global__CMSSW_X_Y_Z_ RECO

N 0.2

R A AR S S B

S S
L N SR SRS S
> L . . . . .
TR SOCUUS SOV USROS SOURUN SRR SO
g0-14F : : : : :

AR SRR RS T S - —
o F : : : : :

O EREE AERELY S8 FELT IS S
0.08F -+ ' :
0.06f
008 g L
Y SRS AN S NN S S

.....................

.....................

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.7
>
80.09
£
=0.08
£0.07
oy
E 0.06)
£0.05
()
0.04
0.03
0.02
0.0%

..................................

....................................

...................................................

o J.G_"'I"'I ] | | ] ] [
T E ]
o 1.05F IS id

£ BN S B

P08 6 420 2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


